


[lepwa 3yrnuHKa:
«Burpae rnoMusky»




52 + 18 = 7;
736 - 336 = 4:
3 + 108 = 408;
74 - 24 = 5;
73 + 27 = 10:
57 —4 =17;

Bignosia:

52+18=7; (5,2
+1,8=7)

736 — 336 = 4:

(7,36 — 3,36 = 4)
3+108 =408;: (3
+1,08 = 4,08)
74-24=5 (74
- 2,4 = 5)
73+27=10; (7.3
+2,7 = 10)
57-4=17; (5,7
—4=17)



Jlpyza 3ynunka:
«Maztunay
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ITpers aynuHka: «[lowykoBa»




3,6 6,2 3,4 8,3

129 -(x+5,8)=1,7
(y-3,7)-1,8=4,7
(2,3+x)-3,8=4,7
13,2~ (D, 4 +x) =39
(x-5,4)+2,3=5,2
(9,1-x)-2,8=2,9

10,2



OTpumanm cnoBo
‘rpamIT”



“lerneeprna IyriuHKa;
«CriopmusHa»




JamicTs ¥, nigcras umopy,
M,OJ sV Orel)12Cs rl*‘,OlE»rll"J'_a

BapiaHT 1 BapiaHT 2
3.61>30" 4,7 *>4,78
584<5,*3 9°8>9,17
436>43" 2.6 217,68
2,0 *6 > 2,057 2,031 > 2,09

3,42< 3,74 4,53 >4,"8



[I’asma 3ynuHKa
«lliI3HaeasribHa»




BapiaHm 1

PoaTtaluyu Bignosigj
npuKnagis y nopsaaky
3pOCTaHHA, | TU
Ha3By MeTarny, SKun
3alunpPoBaHO TYT.

(V] : 1,35 + 0,392;
U] : 5 - 4,57;

[]: 4,5 3,26:
[11:0,8 +0,239:
[T]::7:12=6

BapiaHm 2

PosTalwlyu Bignosigi
npuknagie y nopsgky
cnagaHHs, | Tu Ha3By
MeTarny, SKun
3awmndpoBaHoO TYT.

[T]:7,61—-5,4;
[A] : 16,74 — 14,8;
U] : 1,8 +0,32;
M. 1,09 T 0,24,
[T]:2,1-0,08



Bapiadm 1: JiTin

papladm 2. IniaH




OAakyemo 3a yeary !



